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• Necessity of Transmission

• When a vehicle is running, various resistances oppose it

• . In order to keep vehicles moving at a uniform speed, a driving force or tractive effort is equal to the sum of all opposing forces. 

If the tractive effort increases the total opposing resistance, the excess tractive effort will accelerate the vehicle.

• If the tractive effort is less than the total resistance, the excess of the resistances will lower the speed of the vehicle. 

• When a vehicle starts to move from rest, it needs more force or high torque and also for hill climbing, accelerating or carrying 

heavy loads due to various opposing resistances.

• It can be achieved by running the engine at high speed and wheels at low speeds. After starting the vehicle,

• it is moving due to momentum gained by the weight of vehicle.

• The same force or torque does not need to keep the vehicle in moving. So, the speed of the road wheels has to be 

progressively increased when the vehicle gains speed gradually. 

• The gearbox is mainly provided for high torque at the time of starting, hill climbing, acceleration and pulling a load.

• It can be achieved by a set of gears which are enclosed in a gearbox and gear changing mechanism.
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• Purposes of Transmission

• 1. It helps the engine to disconnect from driving wheels.

• 2. It helps the running engine to be connected to the driving wheel smoothly and without shock.

• 3. It provides the leverage between engine and driving wheels to be varied.

• 4. It helps to reduce the engine speed in the ratio of 4:1 in case of passenger cars and in a greater ratio in case of heavy 

vehicles such as trucks and lorries. 

• 5. It helps the driving wheels to be driven at different speeds.

• 6. It gives the relative m

• CLUTCH

• Clutch is a mechanism used to connect or disconnect the engine from the rest of transmission elements.

• It is located between engine and gearbox. During normal running and stationary position, it is always in engaged condition. 

• The clutch is disengaged when the driver processes the clutch pedal. 

• The clutch is disengaged for starting, changing gears, stopping and idling.

• When the clutch is engaged, the engine will be connected to the transmission and power flows from engine to rear wheels 

through a transmission system. 

• When 'the clutch is disengaged by pressing the clutch pedal, the engine will be disengaged from the transmission. 

• Thus, the power does not flow to rear wheels while the engine is still running. 
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• Principles of Operation of Friction Clutch

• The clutch works on the principle of friction. In Figure 3.2, the driving shaft A with flange C is rotating at 'N' rpm and shaft B with 

the flange 0 is keyed to the driven shaft which is in stationary position when the clutch is not engaged. Now, external force is

applied to the flange 0 so that it comes in contact with flange C, As soon as the contact is made, they are united due to friction 

between them and the flange 0 starts rotating with flange C. The rotational speed of flange D depends on the friction between

surfaces C and D which in turn proportional to the external force applied.

• If the force is gradually increased, the speed force transmitted will a.so be increased gradually. The torque transmitted by the

friction clutch depends on pressure applied on flange, coefficient of friction of the surface materials and radius of the flange. By 

increasing anyone of them, the force transmitted can be increased.
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